
981000517 1/2B16.08

SOLID GSX Enclosure system
Power needs control

Type Z (1) Pcs. (2) Pcs.

UW-GT 150 109 mm UW-GT 150L-W 2 UW-GT 150P-W 2

UW-GT 200 159 mm UW-GT 200L-W 2 UW-GT 200P-W 2

UW-GT 250 209 mm UW-GT 250L-W 2 UW-GT 250P-W 2

UW-GT

No. Type ETI Name Pcs.

3 AS-C 5x10 Screw M5x10 DIN7985 Zn 2

4 AW-R 5 Washer M5 DIN126 Zn 2

5 AN-H 5 Nut M5 DIN934 Zn 2

6 AW-R 6 Washer M6 DIN126 Zn 4

7 AS-SH 6x10 Screw M6x10 DIN912 Zn 8

Screwdriver PH2
(Wkrętak PH2)

3 AS-C 5x10 2,2-3,5 Nm

8

13

8 AN-FSH 8 10 Nm

5 AN-H 5 2,2-3,5 Nm

Z

UW-GT

Mounting instructionsGB

Montage anleitungDE

Navodilo za montaźoSI

Instrukcje montażuPL

Upute za montaźuHR

Montaźni návodCZ

Navod na montaźSK

Szerelesi utmutatoHU

Montavimo instrukcijaLT

Инструкция за монтажRU

Montāžas instrukcijaLV

PaigaldusjuhendEST

Hex5
(Klucz imbusowy 5)

7 AS-SH 6x10 3,6-6,0 Nm

8

3

4
5

Z

8

4
5

3

2

6

7

14
5



981000517 2/2B16.08

SOLID GSX Enclosure system
Power needs control

UW-GT

Step 1
(Krok 1)

Step 2
(Krok 2)

Step 3
(Krok 3)

Step 4
(Krok 4)

7
6


